BHCSI Algorithms Homework: Greedy Scheduling

There are two problems to solve in this homework assignment. You may want to reuse some code for both assignments. Write your main method for your solution to Problem A in the file SingleRoom.java. Write your main method for your solution to Problem B in the file MultipleRoom.java.

Problem A: Single Room Scheduling

Your goal is to implement the greedy algorithm for scheduling the maximal number of requests for a single room given the start and end times of all the requests. Thus, in this schedule, you potentially reject certain events, but schedule as many as possible that will fit in the room. Assume that it is permissible to schedule an event that ends with another event that starts at that exact same time. Your output for each case should follow the following format. 

Test case n: A maximum of k events can be scheduled.

where n is the input case number (1, 2, etc.), and k is the maximum number of events that can be scheduled in the room. Each line of output should correspond to one input case.
Please name the input file you read from schedule.in.
Problem B: Multiple Room Scheduling

Your goal is to implement the greedy algorithm for determining the minimum number of rooms necessary to schedule all given requests. Assume that it is permissible to schedule an event that ends with another event that starts at that exact same time in the same room. Your output for each case should be a single sentence of the format:

Test case n: A minimum of k rooms are necessary.

where n is the input case number (1, 2, etc.), and k is the minumum number of rooms necessary to schedule all events. Each line of output should correspond to one input case.
Please name the input file you read from schedule.in.

File Format for both problems

For both problems the input file format will be the same. The first line will contain a single integer n, the number of input cases in the file. The first line of each input case will contain a single integer k, the number of events to be scheduled potentially for that input case. The following k lines of the input case will contain two positive integers each, s, and f, with s < f, where s represents the start time and f represents the finish time. Here is an example file:
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For this file, the output for problem A should be:

Test case 1: A maximum of 3 events can be scheduled.
Test case 2: A maximum of 1 events can be scheduled.
For this file, the output for problem B should be:

Test case 1: A minimum of 2 rooms are necessary.

Test case 2: A minimum of 1 rooms are necessary.

